1. Suppose that host A is connected to arouter R 1, R 1 is connected to another
router, R 2, and R 2 is connected to host B. Suppose that a TCP message that
contains 900 bytes of data and 20 bytes of TCP header is passed to the IP code
at host A for delivery to B. Show the Total length, Identification, Flags, and
Fragment offset fields of the IP header in each packet transmitted over the
three links. Assume that link A-R1 can support a maximum frame size of
1024 bytes including a 14-byte frame header, link R1-R2 can support a
maximum frame size of 512 bytes, including an 8-byte frame header, and link
R2-B can support a maximum frame size of 512 bytes including a 12-byte
frame header.

2. Find the forwarding and blocking port for the following network using

spanning tree algorithm.
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Ports 2 and 3 of bridge B3 are blocking ports (no frame is sent out of these ports),
Port 1 of bridge B5 is also a blocking port (no frame is sent out of this port).

3. Consider sending a 2400 - byte datagram into alink that hasan MTU of 700 bytes.
Suppose the original datagram is stamped with the identification number 422. How



many fragments are generated? what are the valuesin the various fields in the IP

datagram(s) generated related to fragmentation?



